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Relação do aço

S1 S22 S33

S100

AÇO N DIAM
Q

UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 288 78 22464

2 5.0 36 66 2376

CA50 3 6.3 221 119 26299

4 6.3 170 134 22780

5 6.3 156 134 20904

6 8.0 130 118 15340

7 8.0 84 133 11172

8 8.0 60 138 8280

9 10.0 130 VAR VAR

10 10.0 30 75 2250

11 10.0 14 VAR VAR

Resumo do aço

AÇO DIAM C.TOTAL

(m)

PESO

(kg)

CA50

CA60

6.3

8.0

10.0

5.0

699.9

348

241.4

248.4

171.3

137.3

148.8

38.3

PESO TOTAL

CA50

CA60

457.4

38.3

Vol. de concreto total (C-25) = 11.35 m³

Área de forma total = 65.31 m²
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